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Q. 1) A-9 digit number 8165323 x 7Y is divisible by 9,

and Y — X = 6. Find the value of V2X + 4Y.

§}‘ﬂ¢3}?§17‘3 Aswmﬂ/‘?ﬁ’ff)‘&v 9 J faursa 8, aﬁ?y X =6
1 %l\/zx+4ytmm=tmamm
Xy =t
i =9 --= (a) 4
(b) 8
j -x = b (€) 2

(d) 6
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Q. 2) Whatis thevalueof 6 - (6 +2-3+7-2)x[{3 -
242} x5—6]?

'
6—wzz—i+7—2)x[{3—z’+/z}x5— 6] 1A

F18?
(a) -16 L - s*(2256)
(b) -4
C)-12 o
.
~) C’w
M
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Q. 3) If, in a competitive exam, the marks obtained by
Sam are 19% less than those of Peter, then the marks
obtained by Peter are how much percentage more than

D === the marks obtained by Sam? ——
. el gfe fadt ufaaht ofian & 9 g1 Wi oie diex | 19%
g - 9o &H &, a dle¥ gRT I 3% /9 gRT Ui @i @ fFaa
N / ufawra siftre 22
(Correct to two decimal places)
|°| (a’rmmwra’faa?vé%
(a) 21.50%
1 _A|00 ) 22.25%
R
“b.\ . (d) 28.64%
o LY
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Q. 4) Which of the following will yield maximum
discount on Rs.fg_s-\‘(‘)%l7~

Fufafeadd 7,500 ¥UY W 3ftwan ge faath
1. Two successive discounts of 5% and 5%

5% 3R 5% B gl HIAD Fe

2. Single discount of 10%

10% @1 TPhd PC

3. Two successive discounts of 8% and 2%

B% HI+ %aﬁa}asﬁlﬁ{si

(c) 3
(d) All will yield the same discount
il &t Ju= ge wai
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Q. 5) The interest earned on Rs.21,000 in 3 years at

R = 100% ST simple interest is Rs.6,400. What is the rate of interest
rP X T perannum? @@ 09—
HIYRYT 7T X 3 |Id | 21,000 3UA U JAfoid ST 6,400
02 21 ufe af e R R 22
. (a) 10=%
Jop R £ U 3 A
> Jopréuyg o 1% x

.?ndf']xs (€ 10=% X
S
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Q. 6) The ratio of the number of boys in a school to the
total number of boys and girls in that school is 7: 17. If

& A R A the number of boys in that school is 1099, then how
many girls are there in that school?

q .11 10" %‘ﬂ{ H g @I S&I &1 39 TPpa H

~ - - * $d WS | AU 7:17 81 af¢ 37 Igv
ASHI B! T 1099 ¢, a’rzmmﬁﬁm'-ﬁ
(a) 1550

(d)1560 -
LT /
1
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S1 = 690 Q. 7) In a class of 60 students, there are 35 boys. The
average weight of boys is 42 kg and the average weight
=S W) of the full class is 46.5 kg. Find the average weight of

girls in the class.

25 . &S 60 faenfial @t v Fanm F 35 TP 81 dSH!I BT MW
mnﬁm’mﬂ%aﬂqﬁﬁmmmmms
S > fraam 81 BaT A asfPal o1 oiud oo JId Siee —
B ’ (n (Z)S.Jkgg

YR X (-3
*\\\/ "lb5;$2;8
03] _wry 2
DN Jea ™
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Q. 8) Pipe A can fill 50% of the tank in 6 hours and pipe B
can completely fill the same tank in 18 hours. If both the

pipes are opened at the same time, in how much time (in_
minutes) will the empty tank be completely filled?

mg%;\gti%ﬁsoes muwém% aag’éﬁag

18 Y HHdl 2| qreul qHg

LA S Db LAk
YR SATET?
(a) 420
(b) 435

= Al hlﬂlfi.us

5
s F LA
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Q. 9) A can complete a piece of work alone in 120 days

- while A and B, working together, can complete this piece
I» A~ Q0> of work in 72 days. In how many days can B, working
alone, complete this piece of work?
Aaﬁrawarr&a»’nzoﬁq’f HY UPdl ¢, JalP A
5+ Ave 5> R 3R B U W1y faey 39 &1d & 72 3=t § 31 % wod
Y, v %l B &1 Hd g0 39 B aﬁ fpam et d T &%
5
C e
' )~
(€) 160X
(d) 209 «
¢oO
4 - 3

2 %A.M
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Q. 10) Pipe A and pipe B running together can fill a
cistern in 6 minutes. If B takes 5 minutes more than A to

\ fill it, then the time in which A and B will fill that cistern
39 A 910~ separate will be, respectively,

UTeY B UP WY 969 0T U ¢ 3l 6 e

. Lemel3® @ g1 gfe B &t mﬁﬁAﬁsﬁqzamaﬂ%%
) mamwg\gaﬁmmuﬁﬂmm

(a) 25 min and 20 mm)L

(b) 15 min and 10 min Y~
&= 3_‘?__ ¢) 15 min and 20 min
A“' B [ (d) 10 min and 15 min |_—
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Q. 11) Each inlet pipe can fill an empty cistern in 84
hours while each drain pipe can empty the same cistern
from a filled condition in 105 hours. When the cistern is
empty, 9 inlet pipes and 10 outlet pipes are
simultaneously opened. After how many hours will the
cistern be completely filled?

Ud® THdc UISU U @roll cdl I 84 Ul H WY HPhdl &
Wal®e gdd ATcll UIgy I SHI BT 105 el | @l B

AR
TITAT UTSY U |TY @i o1 &1 fbax we a1 dat
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D~ 86 vat:t Q. 12) A policeman spots a thief at a distance of 360 m.

Both the policeman and the thief simultaneously start

. (. running, with the former chasing the latter. While the
Rs-=> - i 1200mt g g

thief runs at the speed of 8 km/h, the policeman runs at
9.2 km/h. How many metres will the policeman have to
run before he catches up with the thief?

by yferasHl A o g s aiicy
P - %‘_;.'-a-x 9200 %mws%wmwgg ahva’r\ra’r\:
= R L
9.2 /
ﬁﬂ?ﬁgﬁ%%ﬁﬁmﬁrﬂammm
(D (a) 2714
2 ‘Z)/ (b) 2668

A
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| Z247x41
Q. 14) IfJH-;=_1.tl;enthevalueetx"z:u’::+1 =y
1 2 4+7x+1
MRx+-=18 AT ——=2FIAFAE

OF

3
(b) =
OF

5 147
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Q. 15)If (a® + b + ¢* —3abc) = 405, and (a— b) *+(b -
c)? + (c — a)? = 54, find the value of (a + b + ¢).
'Q'fa(a3—b3—c3 3abc) = JLS,@R(a—b) 2+(b—c)2
(c —a)? = 54, ?h(a-i-b-fc)ﬂﬂﬁiﬂa

a) 27
(b)15
o) ¢

(d) 45

7} 2
a3 .',53.,.43—3“40( i JiLO\+ \,-H.) L&E‘I’Lb'C) 4’@—-_:&5_]
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Q.16)f(a+ b +c) =13, and (ab + bc + ca) = 54, find
the value of (a? + b? + ¢2). C ”
gfid(a+b+c)=13, 3R (ab+bcTc) =548, A @+
b2+ c2r BT HIH FTd PIT|

E)LE

b) 65
_

(d) 59

W\

2
aliic

L 2 2
A+birt)- Q24b 4 +2(ovetbctca)
( J

Jtq = x  +2L5Y)

X =G| ——
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Q. 17) For congruent tnangles A ABC > and A DEF, which

of the following statements is correct?

:‘g‘g‘?ﬁ‘iﬁgaﬁ?%m Prafafea & & @59 @ sy

a) Perimeter of A ABC > Perimeter of A DEF A

(b) Perimeter of A ABC = Perimeter of A DEF

(c) Perimeter of A ABC = = perimeter of A DEF “A
(d) Perimeter of A ABC < Perimeter of A DEF
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Q. 18) The area of a sector of a circleis 110 cm 2 and the
central angle of the sector is 56°, what is the radius of

the circle?

2 UP g9 & Bsa@Es &1 83%d 110 99 2 £ R Bsgds &1
v @ _ “oc"‘/\' ﬁgﬁﬁWSG%gﬁﬁﬁWW%?(Taken=22/7)
d6o a) 25 cm/25

C JCmM/Z0 1+
& S (d)35cm/35

—?'rlfﬁ:— (o)
2t
us
v "~ Sxys§
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Q. 19) What is the surface area (in cm?) of a spherical
sculpture whose radius is 35 cm?

U TR gfd e Bear 35 ¥t 8, &1 wae a3 @

a) 16540
(c) 14500
COREYL
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Q. 20) A petrol tank is of length 50 m, breadth 25 m, and
depth 10 m. How many litres of petrol can be

accommodated in the petrol tank when it is completely
filled?

o ) wané so e, e 25 Hew o
A bl Atw D b o 54F W) T o

SR Ui i Eeare? — —

(a) 1,25,000

b) 12,50,000
(c) 1,25,00,000
’ O

\ MB: \p oo Lut~
—
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Sant o+ L 9,52@ = | Q. 21) In a right triangle for an acute angle x, if sinx = %,
the find the value of cosx.
2, _ .2 7@ THe I By F FAS1v x & g, af sinx =2 7,
®& ~ |-$"o
Cos ‘ i cos x &1 | JTd Do
I =
= -1 0 (a)
Coa i v J(l_o

:-)j‘_q/ (c)‘?
J— —— d e
W9 @
To_
0_:' i
» | z;;,”l?ﬁ—s_____..
W

X [io
=-
A
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J)C8S5A+3IN1A

2¢es5A 4+ hoy'mA

0

—

21cos A+3sinA _
Q. 22) |fm = 2, then find the value of cot A

gfg Zlcosdtdsind _ 5 2 A} €Ot 4 BT HIE Fd DI

liicos A+4sin A
(@) 5

(b) =

=
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A Q. 23) A ABCis a right triangle. If 2B = 90° and tanAv—fi-,
A+4+€ =90 then the value of sinA cos C + cos Asin Cis: A ABC U®

aHe Byw 813f¢ 2B = 90° MR tanA B, AT A
cosC+cosAUWC$T1TFI%

€) ;
OF
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Q. 24) Study the given table and answer the question

800 that follows. The table gives the number of graduate
m 50 students enrolled in 4 different colleges A, B, C, and D in
_m 580 (550 |62¢ ' a city over the years 2010 to 2014 and also the number

(’8“ M“ 72( of students who passed in the final examination during
these years.

&t 72 arfereT &1 sreaga Y oY Aufef@a uy &1 397 2

arferdT 2010 |/ 2014 & SR UH e & 4 AeT-3HeT
Pidell T, o, '@ﬁaﬁ?:ﬁﬁwgmma’fﬁm

S SR 7 a6 % IR ot e A It €13 ard oA A
. @& ot & 2

Find the percentage of students who passed from college
B for all the years put together to the number of
students from college B during all the years (rounded to
2 decimals ).

wft auf %i R Piaw 41 |/ I g T Bl B
ufawra 9t auf & SR Siaw o | e IGEIE
Dt ST (2 SUHAT dP) JTd B

(a) 94.98% (b) 94.95%

(c) 94.92% (d) 94.96%

Vear 12010 12010 2011 12011 [2012 ]2012 ]2

V1 b
& A
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Q. 25) The following table shows the percentage
employees distribution of in five different departments

1-5 in a company durigﬁ_{the years 2020 and 2021. ‘
forg arferer ad 2020 Y 2021 ¥ SR ' $U & Ui

-3 faurT 1-5 # seaival &1 wfawra favor gt
21 The total number of employees in 2020 and 2021 in

1200 and 1600, respectively.

2020 3 2021 ﬁﬂaﬁu{aﬁgﬁrmm: 1200 3R
1600 &1

In which department is the variation is strength of

emloyees maximum is 2021 in comparison to that is
2020?

a4 2020 &t ga=1 # a4 2021 ¥ ¥ faur # sHwial o
HE Afrean 22

(a) Department 5/ faumrs

(b) Department 2/ faumT 2

(c) Department 4/ faurT 4

(d) Department 1/ faumT 1

Departments







